# THE PUBLIC SCHOOLS METUCHEN, NEW JERSEY

#### **BOARD MEETING MINUTES**

#### of the Metuchen Board of Education

Metuchen High School 400 Grove Avenue Metuchen, NJ 08840

Tuesday, June 11, 2019

#### 1. Call to Order

#### 2. Flag Salute

#### 3. Notice of Meeting

I hereby make this statement to indicate compliance with the Open Public Meetings Act known as Chapter 231 of the Public Laws of New Jersey, 1975, which became effective 90 days after enactment, January 19, 1976.

Notice of this meeting was given by providing the location, time and date of this meeting, and posting of the same on the front door of the Board of Education offices, by delivering copies to the Borough Hall and the Metuchen Public Library, The Home News and Tribune, The Criterion Sentinel, The Star Ledger, and by filing a copy with the Borough Clerk as prescribed by this law.

#### 4. Roll Call

Mr. Benderly	P	Mr. Lifton	P
Ms. Cook	P	Mr. Manley	A
Mr. Derflinger	P	Mr. Small	P
Mr. Glassberg	P	Mr. Suss	P
Ms. Killean	P		

#### 5. Showcase of Success

❖ Spring Sports Champions – Dr. Caputo, Mr. McPeek and Mr. Peragallo presented certificates to Spring Sports Champions

#### Edgar Middle School Undefeated Girls Softball Team

Cece Appau Anna Pierson
Mary Kate Cummings Ella Polakowski
Brianna De La Fuente Skylar Prehodka
Kylie Flaherty Jaelynn Rodriguez
Abby Kozo Jane Swykowski
Alexx Lipshutz Julia Swykowski

Mary McGrath Mia Szap

Kyle Morano Catherine Xarhoulakos

Samantha Pfeiffer

#### Metuchen High School Boys Golf NJSIAA Central Jersey Group I Champions

Josh BlomJustin DerectorKyle BlomNico MalamugMatt DeCerboJackson Schnarre

#### Individual South/Central Sectional Champion

Nico Malamug

# Metuchen High School Boys Track Blue Division Champions

Avi Appell Thomas Kwok Nick Bianchini Eddie Malague Matt Brown Arvin Manivannan Thomas Cordes Phil Marcille Jai Dreher Mark Miller Elijah Ervin Giovanni Ortega August Hines Colyn Qualls Colin Hueston Raj Safi Josh Hyman Dean Serio Emmett Koskoski Aakash Sood Freddie Krebs Chris Wu

# Metuchen High School Girls Track Blue Division Champions

Merin Boucher Joy Li

Alex Ciardiello Sara Lignell
Samantha Ciardiello Camille Lussier
Patricia Dela Cruz Mary Malague
Serena Deniz Lilia Ould-Hammou

Domonique Dudley Tasha Pais Kyan Edwards Caroline Schleif Emma Kacani Stephorah Serieux

Elizabeth Lackland Nina Suss

Paige Larson Charlotte Waring

Lucie Lee

#### 4x800 meter Relay Team - Sectional Champions

Camille Lussier Caroline Schleif Mary Malague Nina Suss **6. Meeting Open to the Public –** nothing at this time (for any topic)

#### 7. Presentations/Discussions

❖ Student Advisory Board – Metuchen High School Senior Lily Lu lead the Student Advisory Board presentation. The following students served on the Board this year:

Campbell Elementary School: Sama Samim

Eashaan Bhattacharyya

Edgar Middle School: Keira Caccavano

Danny Galligan Kyle Rutter Keira Dowd

Metuchen High School: Carly Pichalski

Jai Dreher Nelson Shi Kathleen Appau Lily Lu

Luy Lu Duan Stooo

Ryan Stoecker

#### 8. Reports

President's Report – no report

❖ Superintendent's Report – Dr. Caputo gave a District Goals update.

❖ Business Administrator/Board Secretary's Report – no report

Committee Reports

- o Policy has not met
- o Curriculum has not met
- o Extra-Curricular Mr. Suss gave report
- o Finance/Tech has not met
- o Facilities Mr. Suss gave report
- District Leadership Team Mr. Benderly gave report. He also said he attended the Garden State Coalition of Schools annual meeting in May and gave report.
- Human Relations Committee Mr. Small said the committee met tonight at the same time as the closed session, so he was unable to attend
- **9. New Business –** It was announced that the Board of Education meetings during the summer months will be held at the high school.
- **10. Old Business –** *nothing at this time*

## 11. Approval of Minutes of the Board of Education Meetings

Move to approve the minutes of the following meetings:

May 14, 2019	Board Meeting
May 14, 2019	Special Meeting 1
May 14, 2019	Special Executive Meeting 2

Mr. Suss motioned. Ms. Cook seconded. Motion carried 8-0-0.

#### **12.** Meeting Open to the Public – nothing at this time

(for any topic discussed up to this point in the meeting and for comments on the recommendations of the Superintendent of Schools)

#### 13. Recommendations of the Superintendent of Schools

(at this time the Board will take formal action on the following items – see attachments)

Often times it may appear to members of our audience that the Board of Education takes action with very little comment and in many cases a unanimous vote. Before a matter is placed on the agenda at a public meeting, the administration has thoroughly reviewed the matter with the Superintendent of Schools. If the Superintendent is satisfied that the matter is ready to be presented to the Board of Education, it is then referred to the appropriate board committee. The members of the board committee work with administration and the Superintendent to assure that the members fully understand the matter. When the committee is satisfied with the matter, it is presented to the Board of Education for discussion before any final action is taken. Only then, is it placed on the agenda for action at a public meeting.

- A. Personnel
- B. Finance
- C. Policy
- D. Curriculum

#### **14. Meeting Open to Public** (for anything you wish to discuss)

#### 15. Announcements

#### **16. Motion to Go Into Executive Session** (when applicable)

Resolution to Close Meeting

BE IT RESOLVED, pursuant to the Sunshine Act, N.J.S. 10:4-12 and 13, that the Board of Education will now meet in executive session to discuss \_\_\_\_\_ and that matters discussed will be disclosed to the public as soon as the reason for confidentiality no longer exist.

#### 17. Adjournment

Mr. Suss motioned. Mr. Lifton seconded. All in favor.

**MEETING ADJOURNED 9:37 PM** 

#### 13. Recommendations of the Superintendent of Schools

(at this time the Board will take formal action on the following items)

#### A. PERSONNEL

#### 1. Resignation - Certificated Staff

Move to approve the resignation of Christine Rockwell-Wardlow, MHS English Teacher, effective June 30, 2019.

#### 2. Intermittent Family Leave

Move to approve the intermittent family leave for Amy Opitz, Secretary to the Assistant Superintendent, effective June 7 through June 25, 2019, and August 9 through August 23, 2019.

#### 3. Salary Adjustment - Certificated Staff

Move to approve a change in base salary for Beth McLaughlin from Step 2D, \$54,907/year, to Step 3D, \$56,246/year, as a result of her earning her master's degree, effective June 1, 2019.

# 4. Rescission and Approval Of Edgar Middle School Writers' Club Co-Curricular Stipend

Move to rescind and approve the following stipends for the Edgar Middle School Writers' Club for the 2018-2019 school year, effective February 1, 2019 (Agenda 7/17/18, Sec 13A2):

Name	Club	Stipend
Rescind:		
Linda Donohue	EMS Writers' Club	\$1,222/year
Approve:		
Linda Donohue	EMS Writers' Club	\$611 (.5)
Approve:		
Katie Tencza	EMS Writers' Club	\$611 (.5)

## 5. Reappointment – Tenured Teachers

Move to approve the reappointment of the following as tenured teachers for the 2019-2020 school year as shown on the attached list.

#### 6. Rate Increase - Substitute Teacher

Move to approve a change in pay rate for Brianna Murphy, Substitute Teacher, from \$85/day to \$90/day, as a result of her obtaining Elementary Teacher Certification, effective June 1, 2019.

#### 7. Ticket Sales

Move to approve the following ticket sales positions for the 2019-2020 school year:

Position	MHS Football Games (per game)	MHS Basketball Games (per game)
Cash Box	\$78	\$67

Ticket Sellers	\$55	\$50
Security	\$50	\$45
Camera	\$22	\$22
Site Supervisor	\$50	\$50
Edgar Basketball	N/A	\$50
Supervisor		

#### 8. Coaches - Metuchen High School and Edgar Middle School Fall 2019

Move to approve the following Metuchen High School and Edgar Middle School coaches for the fall 2019 school sports season as shown on the attached list.

- **9.** Coaches Metuchen High School and Edgar Middle School Winter 2019-2020 Move to approve the following Metuchen High School and Edgar Middle School coaches for the winter 2019-2020 school sports season as shown on the attached list.
- 10. Coaches Metuchen High School and Edgar Middle School Spring 2020

  Move to approve the following Metuchen High School and Edgar Middle School coaches for the spring 2020 school sports season as shown on the attached list.

#### 11. Reappointment – Substitute Athletic Trainers

Move to approve the reappointment of Nicholas Zaneto and Lauren Butler as substitute athletic trainers for the 2019-2020 school year (as needed) at the rate of \$45/hr.

12. Summer Work – Metuchen High School Weight Room Supervisors

Move to approve the following as summer weight room supervisors at the rate of \$25.00/hr. as needed:

Scott Rockhill	Lauren Butler	Mike Knoth**
Michele McCorkle	Beth Abbott	Nick Zaneto
Bob Ulmer	Guy Jensen**	Matt Sellitri

<sup>\*\*</sup>not a member of district staff

#### 13. Summer Work - Edgar Middle School

Move to approve the following counselors and teacher for summer work at Edgar Middle School:

Position	Name	Time Period	Rate
Guidance	Lisa Chango	3 days in August	\$544.92/day
Guidance	Lauren Campbell	3 days in August	\$304.03/day
Technology	Maryrose Little	3 days in August	\$452.17/day

#### 14. Summer Work - Campbell Elementary School Nurse

Move to approve the following school nurse for summer work at Campbell Elementary School:

School Nurse	# Days	Rate
Jennifer Decker	4	\$345.23/day

#### 15. Summer Work - Guidance Department Metuchen High School

Move to approve the following school counselors for summer work at Metuchen High School:

Counselor	# Days	Per Diem Rate
Leigh Hanbridge	5	\$462.94/day
Elizabeth DeMott	5	\$384.06/day
Traci Grauer	5	\$518.03/day

#### 16. Summer Work - Metuchen High School Peer Leadership

Move to approve the following peer leadership trainers for summer work at Metuchen High School:

Name	# Days	Per Diem Rate
Laura Connolly	2	\$384.06/day
Chris Giddes	2	\$307.39/day

## 17. Summer Work - Metuchen High School Technology

Move to approve the following teacher to provide technology support during the summer at Metuchen High School:

Name	# Days	Per Diem Rate
Patricia Glave	3	\$515.52/day

#### 18. Summer Band Camp

Move to approve the following staff to attend Summer Bank Camp August 14-18, 2019:

Marching Band	John Messenger	2019-20 stipend
Director		(as per contractual agreement)
Asst. Marching Band	John Flynn	2019-20 stipend
Director	-	(as per contractual agreement)
Color Guard Director	Debbie Yaniga	2019-20 stipend
		(as per contractual agreement)
Guard Instructor	Dylan Fernandez	2019-20 stipend
		(as per contractual agreement)
Marching Band	Jason Gomez	2019-20 stipend
Percussion Instructor		(as per contractual agreement)
Percussion Assistant	Robert Lazenberry	Volunteer

# 19. Metuchen High School Summer Institute Stipends

Move to approve the following teachers for additional guidance and support to students preparing for college admissions, the application process and algebra courses; as well as for pre-advanced placement instruction:

Class	Teacher (s)	Stipend 2019	Per	Proposed Sessions
Writing the College Essay	Lauren Volosin Dianne Kuenzel Eileen Wagenblast	\$ 1,000.00	Session	3
SAT Prep Math	Jonathan Stevens	\$ 1,500.00	Session	1
SAT Prep English	Jane Harmon	\$ 1,500.00	Session	1
Common App	Elizabeth DeMott	\$ 64.01	Per Hour	2.5 hours
ALG I Prep	Janis Lewandowski	\$ 87.60	Per Hour	10 hours
ALG I Prep	Sherry Lifson	\$ 87.03	Per Hour	10 hours
Alg II Prep	Janis Lewandowski	\$ 87.60	Per Hour	10 hours
Alg II Prep	Sherry Lifson	\$ 87.03	Per Hour	10 hours
AP Language & Comp	Lauren Volosin Eileen Wagenblast	\$ 1,000.00	Session	2
AP Lit & Comp	Adam Levy	\$ 1,000.00	Session	1
AP US Hist I	Chris Giddes	\$ 1,000.00	Session	2
AP US Hist II	William Schlavis	\$ 1,000.00	Session	1
AP Microeconomics	Karen Van de Castle	\$ 1,000.00	Session	1
AP Stats	Jim Thomas	\$ 1,000.00	Session	1
AP Edge Calculus AB/BC	Jonathan Stevens	\$ 1,000.00	Session	1
AP Spanish Language	Karin Flores	\$ 1,000.00	Session	1
AP Music Theory	Stefeny Krombholz	\$ 1,000.00	Session	1

# 20.

**Extended School Year Staff – Special Services**Move to approve the following as staff for the 2019 Extended School Year Program:

# **Certified Staff**

Name	Program	Per Diem	# of Days	Total
Katie McKenna	Preschool Teacher	\$289.56	24	\$6,949.44
Julie Anderson	Preschool & Gr 2	\$523.88	21	\$11,001.48
Lindsey Omark	Preschool & Gr 2	\$304.03	3	\$912.09
Alaina Warakomski	Elementary (3-4)	\$345.23	24	\$8,285.52
Brittany Okoszko	Special Class (1-4)	\$307.39	22	\$6,762.58
Sarah Karger	MILE/Transition (9-12)	\$439.11	20	\$8,782.20
Steve Cichetti	MILE/Transition (9-12)	\$500.55	4	\$2,002.20
Beth McLaughlin	Math (5-8)	\$311.41	18	\$5,605.38
Marilyn Lewis	Reading (5-8)	\$532.04	18	\$9,576.72
Kathy Rice	Special Class (5-8)	\$452.17	24	\$10,852.08
Elisa Cadel	Elementary (K-1)	\$325.23	24	\$7,805.52
Cynthia Linkenheld	Special Class (9-12)	\$371.12	24	\$8,906.88
Janice Billik	School Nurse	\$501.40	24	\$12,033.60

			# of	Per	# of	
Name	Program	Per Diem	Days	Hour	Hours	Total
Isabelle Filiciello	ESY Speech	\$297.51	18			\$5,355.18
Emily Walsh	ESY Speech	\$341.49	18			\$6,146.82
Erica Hsu	ESY Counseling			\$60.42	6	\$362.52

Total: \$111,340.21

# Paraprofessionals Extended School Year 2019

Name	Program	Per Hour	# of Hours	Total
Aggarwal, Roxanne	Para-Professional ESY- MIPP	\$18.95	108	\$2,046.60
Amend, Lisa	Para-Professional ESY- MIPP	\$18.95	108	\$2,046.60
Aswani, Sonia	Para-Professional ESY	\$18.05	108	\$1,949.40
Colavito, William	Para-Professional ESY	\$18.95	72	\$1,364.40
Cook, Wally	Para-Professional ESY	\$18.95	90	\$1,705.50
Dellasala, Ann	Para-Professional ESY	\$18.95	108	\$2,046.60
DiMeglio, Joseph	Para-Professional ESY	\$18.95	108	\$2,046.60
Fisher, Roseanne	Para-Professional ESY	\$18.95	108	\$2,046.60
George, Sijo	Para-Professional ESY	\$18.35	108	\$1,981.80
Hoffman, Judi	Para-Professional ESY	\$19.25	108	\$2,079.00
Hsu, Erica	Para-Professional ESY- MIPP	\$20.00	108	\$2,160.00
Jeney, Brian	Para-Professional ESY- MIPP	\$13.35	108	\$1,441.80
Kovacs, Jessica	Para-Professional ESY	\$18.95	90	\$1,705.50
Latta, Bill	Para-Professional ESY	\$22.50	90	\$2,025.00
Lesniak, Jennifer	Para-Professional ESY	\$18.95	108	\$2,046.60
Malone, Pamela	Para-Professional ESY	\$18.35	108	\$1,981.80
Mauro, Danielle	Para-Professional ESY	\$18.95	108	\$2,046.60
Molfetto, Michael	Para-Professional ESY	\$18.05	108	\$1,949.40
Omark, Lindsey	Para-Professional ESY/MIPP (.5)	\$20.00	95	\$1,900.00
Pasquale, Jennifer	Para-Professional ESY	\$20.00	108	\$2,160.00
Paulmenn, Mary Jo	Para-Professional ESY	\$19.60	108	\$2,116.80
Sellitri, Matthew	Para-Professional ESY/MIPP (.5)	\$18.05	108	\$1,949.40
Serratelli, Hope	Para-Professional ESY	\$22.50	108	\$2,430.00
Young, Kelsee	Para-Professional ESY	\$13.35	108	\$1,441.80
OPEN- ESS	Para-Professional ESY		35	

Total: \$46,667.80

# Extended School Year 2019 Contracted Related Services

Name	Program	Per Diem	Per Hour	# of Hours	# of Days	Total
United	ESY		\$75	108		\$8,100
Therapy	O.T.					
Solutions						
Lori-Anne	ESY		\$88	33		\$2,904
DiSerio	P.T.					
Puzzle	ESY		\$83	52		\$4,316
Solutions	BCBA					

Total: \$15,320

# Substitute Teachers/Paraprofessionals (As needed) Extended School Year 2019

Name	Program	Per Diem	Per Hour
Healey, Anne Marie	Substitute Teacher	\$90	
Park, Ellen	Substitute Teacher	\$90	
Pata, Tara	Substitute Teacher	\$90	
Peckhardt, Christofer	Substitute Teacher	\$90	
Poandl, Thomas	Substitute Teacher	\$85	
Rizwan, Saadia	Substitute Teacher	\$85	
Shapiro, Megan	Substitute Teacher	\$90	
Smith, Audra	Substitute Teacher	\$90	
Sullivan, Allison	Substitute Teacher	\$90	
Tay, Tara	Substitute Teacher	\$90	
Temkin, Sheila	Substitute Teacher	\$90	
Thomas, Margie	Substitute Teacher	\$90	
Weitzner, Danielle	Substitute Teacher	\$90	
Flynn, Rene	Substitute Paraprofessional		\$18.95
Leitner, Jordan	Substitute Paraprofessional		\$18.95
Omarzai, Farhana	Substitute Paraprofessional		\$18.95
Pearsall, Kathleen	Substitute Paraprofessional		\$18.95
Torzilli, Jeana	Substitute Paraprofessional		\$18.95
Zelly, Gail	Substitute Paraprofessional		\$18.95

#### Child Study Team Extended School Year 2019

Name	Position	Per Diem Rate	# of Days	Total
Alissa Trapanese	Psychologist	\$439.11	14	\$6,147.54
Christina Theiss	Psychologist	\$462.94	14	\$6,481.16
Karen Calantoni	Learning Consultant	\$311.41	14	\$4,359.74
Christine Cuthbertson	Learning Consultant	\$515.52	14	\$7,217.28
Deneane Bonassisa	Learning Consultant	\$475.44	14	\$6,656.16
Karla Riera	Learning Consultant	\$473.70	14	\$6,631.80
Lisa Granados	Social Worker	\$439.11	14	\$6,147.54
Susan Whitlock	Social Worker	\$405.63	14	\$5,678.82

#### Total: \$49,320.04

Ms.	Killean	motioned.	Mr. Benderly	seconded.	Motion	carried	8-0-0.
		e	nd of Personn	el items			

#### FINANCE ATTACHMENT

#### 13. Recommendations of the Superintendent of Schools

(at this time the Board will take formal action on the following items)

#### **B. FINANCE**

#### 1. Appointment - Auditor

Move to appoint Suplee, Clooney and Company as auditor for the 2019-2020 school year at an annual of \$40,000.

#### 2. Out of District Placement

Move to approve the out of district placement for the 2018-2019 school year, effective May 9, 2019.

Student	School	Tuition
2020226	Collier School	\$328/day

# 3. Field Trips

Move to approve the following field trip for students in the Metuchen School District as shown:

Name	School	Grade Level	# of Students	Description of Trip	Date	Destination	Teacher(s) Participating	# of Subs	Cost of Subs	Bus cost to District
Vivian				The students in my science class have been learning about water systems of earth. They have decided to create picture books describing the life a a drop of water and would like to read their books to students at Moss	6/18/2019	Field Trip to: Moss	Vivian Petrakakos			\$
Petrakakos	EMS	5	41	school.	0:00	School	+ para	0	Ş -	40.00

# 4. Professional Development

Move to approve the following professional development activities as shown on the attached chart:

Professional Development for Board Approval 6/11/19							
Start Date	End Date	Activity Title	Last, First Name	Building	Requested_Expense_ Total	Payment Method	FFPI #
6/3/2019	6/9/2019	AP Reader	Robbins, Evan	MHS	\$ -	No cost	
6/4/2019	6/27/2019	Labor Management Relations	Robbins, Evan	MHS	\$ -	No cost	
6/11/2019	6/11/2019	Wingman Champions Workshop	Donohue, Linda	EMS	\$ -	No cost	
		Wingman Teacher Champion					
6/11/2019	6/11/2019	Training	McPeek, Kevin	EMS	\$ -	No cost	
6/11/2019	6/11/2019	Wingman Training	Campbell, Lauren	EMS	\$ -	No cost	
6/14/2019	6/14/2019	Dyslexia, Dyscalculia, and Dysgraphia	Spak, Jennifer	CES	\$ 199.99	FFPI	19- 183
6/14/2019	6/14/2019	Dyslexia, Dyscalculia, & Disgraphia	Huntress, Donna	CES	\$ 238.99	FFPI	19- 182
6/20/2019	6/20/2019	Decoding Cancer	Holleran, Martin	MHS	\$ 100.00	FFPI	19- 184
10/5/2019	10/7/2019	Artify	Gumbrecht, Jennifer	EMS	\$ 205.00	FFPI	20- 004

10/23/2019	10/26/2019	National Character Forum	Porowski, Edward	CES	\$ 1,805.50	Other	
Adjustment							
2/25/2010	2/25/2010	NJAPHERD		EMG	Change from \$75.00 to	EEDI	19-
2/25/2019	2/25/2019	Convention	Gilbert, Melanie	EMS	\$85.00	FFPI	124

#### 5. Resolution

Be It Resolved that a settlement be approved for payment of \$25,000 in back tuition for certain students known to the Board, subject to execution of a written Settlement Agreement in a form acceptable to General Counsel.

Mr.	Small	motioned.	Mr. Derilinger	seconded.	Motion	carried	8-0-0.
			end o	f Finance i	tems		

#### POLICY ATTACHMENT

#### 13. Recommendations of the Superintendent of Schools

(at this time the Board will take formal action on the following items)

#### C. POLICY

#### 1. Suspensions

The Board hereby acknowledges receipt of the suspension report summary for May 13-June 7, 2019.

#### 2. Harassment, Intimidation and Bullying

Move to affirm the findings of the previously reported case:

• EMS050619001

#### 3. Second Reading of Policies

Move to approve the second reading of the following policy:

• Policy 2560 – Live Animals in School

#### 4. School Bus Emergency Evacuation Drill Report

Move to accept the report on the completion of the School Bus Emergency Evacuation Drill:

6/5/19 8:55 and 9:10 am, Moss Elementary School back parking lot. Vans #6, #12 and #14, supervised by Lisa Cook, Transportation Coordinator.

# 5. School Bus Emergency Evacuation Drill Report

Move to accept the report on the completion of the School Bus Emergency Evacuation Drill:

6/6/19 2:30 pm, Metuchen High School parking lot. ABC Van, supervised by Lisa Cook, Transportation Coordinator.

Mr. Glassberg motioned.	Mr. Lifton seconded.	Motion carried 8-0-0.
	end of Policy iter	ms
D. CURRICULUM		
Nothing at this	time	
	end of Curriculur	n items

# PERSONNEL ATTACHMENT – SEC A5 - TENURED TEACHER SALARIES 2019-2020 SCHOOL YEAR

Name	Assignment	19- 20 Grp	19- 20 Step	19-20 Base Salary	19- 20 CEU	19-20 Longevity	19-20 Total Salary
Abbott, Beth	MHS-PE	1	Z	\$88,614		1.050	\$ 93,045
Albanese, Edward	Edgar-Math	4	K	\$81,236		1.000	\$ 81,236
Anderson, Julie	Campbell-BSI/Special Ed	3	N	\$93,045	1,050	1.030	\$ 96,917
Anderson, Sarah	Campbell - Grade 3	3	G	\$63,176	,	1.000	\$ 63,176
Angus, Stephanie	Campbell-Special Ed	1	K	\$75,568		1.000	\$ 75,568
Araneo, Veronica	Edgar-Special Ed	1	K	\$75,568		1.000	\$ 75,568
Bethe, Michelle	Campbell,Grade 3	1	F	\$56,868		1.000	\$ 56,868
Billik, Janice	Edgar-Nurse	1	N	\$88,614	150	1.045	\$ 92,758
Blaze, Kerry	MHS-Social Studies	1	М	\$83,768		1.000	\$ 83,768
Brown, Deborah	Edgar-Math/Social Studies	1	N	\$88,614	625	1.055	\$ 94,147
Bruno, Kristen	Edgar-Language Arts	3	N	\$93,045	150	1.045	\$ 97,388

Brusca, Gina	Campbell-Art	3	E	\$57,611		1.000	\$ 57,611
Butler, John	Edgar-Science	1	F	\$56,868		1.000	\$ 56,868
							\$
Butler, Lauren	MHS-PE	3	J	\$75,041		1.000	75,041 \$
Butler, Michael	Edgar-Math/Social Studies	1	N	\$88,614	300	1.030	91,581 ¢
Calantoni, Karen	Moss-LDTC	3	Е	\$57,611		1.000	57,611
Camargo, Laura	Edgar-Spanish	1	F	\$56,868		1.000	\$ 56,868
Carter, Douglas	Edgar-PE	1	N	\$88,614	150	1.045	\$ 92,758
Chango, Lisa	Edgar-Guidance	4	N	\$95,260	750	1.050	\$100,810
Cichetti. Steve	MHS-ICS/Special Ed/Social Studies	1	N	\$88,614		1.045	\$ 92,602
Clarke, Michael	MHS-Social Studies	3	N	\$93,045	150	1.045	\$ 97,388
Connolly, Laura	MHS-Social Studies/Psychology	3	I	\$71,051		1.000	\$ 71,051
Conzo, Rupel	Campbell-BSI	3	М	\$87,956		1.000	\$ 87,956
Cuthbertson, Christine	Edgar-LDTC	3	N	\$93,045		1.025	\$ 95,371
DeMott, Elizabeth	MHS-Guidance	3	ı	\$71,051		1.000	\$ 71,051
Derer, Barbara	Campbell-Librarian	3	F	\$59,711		1.000	\$ 59,711
Desantis, Theresa	MHS-Special Ed	1	N	\$88,614		1.055	\$ 93,488
Doherty, Jennifer	Campbell-Grade 1	1	N	\$88,614		1.025	\$ 90,829
Donohue, Linda	Edgar-Language Arts	3	N	\$93,045	450	1.045	\$ 97,702
Elliott, Brian	MHS/Edgar-German	4	N	\$95,260		1.020	\$ 97,165
Elton, Andrea	Edgar-English	3	I	\$71,051		1.000	\$ 71,051
Evans, Candace	Campbell-Grade 1	3	F	\$59,711		1.000	\$ 59,711
Fiore, Melissa	Campbell-Grade 4	1	Н	\$63,868		1.000	\$ 63,868
Fischer, Laura	Moss-Kindergarten	1	N	\$88,614	750	1.030	\$ 92,045
Fitzgibbon, David	Campbell-Technology	3	М	\$87,956	600	1.000	\$ 88,556
Flores, Karin	MHS-Spanish	1	М	\$83,768	750	1.000	\$ 84,518
Gaffney, Carol (.4)	Moss-Art/Library	3	N	\$37,218	750	1.030	\$ 39,107
Gallagher, Jordyn	Edgar/Moss-Music	1	F	\$56,868		1.000	\$ 56,868
Gazda, Val	MHS-PE/Health	1	N	\$88,614	300	1.055	\$ 93,804

Giddes, Christopher	MHS-Social Studies	1	F	\$56,868		1.000	\$ 56,868
Gil, Staci	Campbell-Grade 1	1	N	\$88,614		1.025	\$ 90,829
Gilbert, Melanie	Edgar/Health	1	F	\$56,868		1.000	\$ 56,868
Girin, Anna	MHS- French	4	N	\$95,260		1.025	\$ 97,641
Glave, Patricia	MHS-Librarian	3	N	\$93,045		1.025	\$ 95,371
Gonzalez, Alexandra	Campbell-Grade 4	2	N	\$90,829	750	1.045	\$ 95,700
Gouveia, Michele	Edgar-Special Ed	3	N	\$93,045	600	1.045	\$ 97,859
Granados, Lisa	MHS/Edgar-Social Worker	4	K	\$81,236		1.000	\$ 81,236
Grauer, Traci	MHS-Guidance	3	N	\$93,045		1.030	\$ 95,836
Graziano, Judith	Edgar –Science	1	N	\$88,614	2,550	1.030	\$ 93,899
Gumbrecht, Jennifer	Edgar-Art	1	N	\$88,614	300	1.030	\$ 91,581
Gural, Todd	Edgar- Grade 5	2	G	\$61,672		1.000	\$ 61,672
Hanbridge, Leigh	MHS-Guidance	4	L	\$85,643		1.000	\$ 85,643
Harley, Melissa	Edgar-Language Arts	3	Н	\$67,061		1.000	\$ 67,061
Harmon, Jane	MHS-English	3	N	\$93,045		1.050	\$ 97,697
Hertzog, Julie	Edgar-BSI/Sp Ed	1	N	\$88,614	150	1.030	\$ 91,427
Hogrebe, Anthony	Edgar-PE	1	N	\$88,614		1.030	\$ 91,272
Holleran, Kelli	Campbell-Grade 4	1	N	\$88,614	300	1.030	\$ 91,581
Holleran, Martin	MHS-Science	1	N	\$88,614		1.055	\$ 93,488
Hughes, Jeanne	Edgar-Special Ed	2	N	\$90,829		1.025	\$ 93,100
Hunt, Franchesca	Campbell- Grade 3	1	Е	\$54,868		1.000	\$ 54,868
Huntress, Donna	Campbell-Special Ed	1	<u> </u>	\$67,668		1.000	\$ 67,668
Jeney, Meghan	Campbell-BSI	2	N	\$90,829	150	1.045	\$ 95,073
Kamin, Rosann	MHS-Spanish	5	N	\$97,475		1.055	\$102,836
Karger, Sarah	MHS-ICS/Special Ed	4	K	\$81,236		1.000	\$ 81,236
Kato, Yoko	MHS-Science	2	N	\$90,829	750	1.030	\$ 94,327
Keers-Nolde, Kathy	Campbell-PE	3	N	\$93,045	1,050	1.055	\$ 99,270
Kennedy, Danielle	Edgar-Math	3	М	\$87,956	300	1.000	\$ 88,256

Keyes, Robyn	Edgar/Campbell-Music	3	М	\$87,956		1.000	\$ 87,956
Kindler, Deanna	Campbell-Grade 1	1	N	\$88,614	600	1.045	\$ 93,229
Korellis, Lauren	MHS-Special Ed	4	K	\$81,236	000	1.000	\$ 81,236
Kuchar, Eileen	Edgar-Special Ed	1	K	\$75,568		1.000	\$ 75,568
					000		\$
Levin, Lisa Kistler	Campbell-Grade 2	3	N 	\$93,045	900	1.030	96,763
Levy, Adam	MHS-English	1	<u>N</u>	\$88,614		1.025	90,829
Lewandowski, Janis	MHS-Math	3	N	\$93,045		1.045	97,232 \$
Lewis, Marilyn	Edgar-Special Ed	4	N	\$95,260	300	1.030	98,427 \$
Lifson, Sherry	MHS-Math	3	N	\$93,045	750	1.030	96,608 \$
Little, Maryrose	Edgar-Librarian	3	L	\$83,651		1.000	83,651 \$
Logan, Karen	Edgar-Math	3	L	\$83,651		1.000	83,651 \$
Lopes, Sofia	Campbell-Grade 4	3	Е	\$57,611		1.000	57,611
LoPresti, Kevin	Campbell-Grade 2	3	I	\$71,051		1.000	\$ 71,051
Mazur-Valera, Nicole	Campbell-Grade 4	3	K	\$79,346		1.000	\$ 79,346
Mazza, Michael	MHS-English	2	N	\$90,829		1.045	\$ 94,917
McCadden, Laura	Edgar-Math	4	М	\$90,051	150	1.000	\$ 90,201
McCorkle, Michelle	MHS-Athetic Trainer	3	G	\$63,176		1.000	\$ 63,176
McKeown, Kathleen	MHS-Art	1	G	\$60,168		1.000	\$ 60,168
McLaughlin, Beth	Edgar-Special Ed	3	Е	\$57,611		1.000	\$ 57,611
Mertz, Emily	Edgar-Grade 5	3	J	\$75,041		1.000	\$ 75,041
Messenger, John	MHS Music	2	N	\$90,829		1.030	\$ 93,554
Miller, Jennifer	Edgar-Grade 5	1	N	\$88,614		1.030	\$ 91,272
Misuraca, Roseanna	Edgar-Technology	3	N	\$93,045	450	1.030	\$ 96,299
Mruczinski, Paul	Edgar-Math	1	N	\$88,614		1.025	\$ 90,829
Muller, Jennifer	Edgar-Grade 5	1	J	\$71,468		1.000	\$ 71,468
Murray, Chad	MHS-Math	3	N	\$93,045		1.020	\$ 94,905
Nokes, Robin	Moss-PE.4,BSI.6	1	N	\$88,614	1,050	1.050	\$ 94,147
Nolde, Jonathan	Campbell-Science	3	N	\$93,045	900	1.050	\$ 98,642

I	1						\$
Palmer, Suzanne	Edgar-Language Arts	3	F	\$59,711		1.000	59,711
Palmieri, Tara	Campbell-Grade 1	1	L	\$79,668		1.000	\$ 79,668
Park, Ellen	District ESL	3	N	\$93,045		1.025	\$ 95,371
Pata, Tara Lynn	Campbell-Grade 4	1	N	\$88,614	300	1.030	\$ 91,581
Peckhardt, Christopher	Edgar-Music	1	Е	\$54,868		1.000	\$ 54,868
Petrakakos, Vivian	Edgar-Grade 5	3	N	\$93,045	300	1.030	\$ 96,145
Presuto,Emily	Edgar-Grade 5	1	ı	\$67,668		1.000	\$ 67,668
Reisman, Jaclyn	MHS-Special Ed Math	2	F	\$58,290		1.000	\$ 58,290
Rescorl, Allyson	Edgar-Language Arts	1	N	\$88,614	150	1.030	\$ 91,427
Robbins, Evan	MHS-Social Studies	4	N	\$95,260	300	1.045	\$ 99,860
Rockhill, Scott	MHS-Science	3	N	\$93,045		1.045	\$ 97,232
Ronk, Edward	Edgar-Science	4	М	\$90,051		1.000	\$ 90,051
Ruggiero, Frank	MHS- Math	3	N	\$93,045		1.025	\$ 95,371
Salit, Jaclyn	Campbell,Grade 3	3	I	\$71,051		1.000	\$ 71,051
Santasieri, Erin	Campbell-Grade 2	1	F	\$56,868		1.000	\$ 56,868
Sato, Elizabeth	CES/EMS/MHS- Music	4	F	\$61,133		1.000	\$ 61,133
Savarese, Melissa	Campbell-Grade 2	1	E	\$54,868		1.000	\$ 54,868
Scala, Danielle	MHS-Spanish	3	G	\$63,176		1.000	\$ 63,176
Schlavis, William	MHS-Social Studies	3	J	\$75,041		1.000	\$ 75,041
Smith, Audra	Edgar-Spanish	1	Н	\$63,868		1.000	\$ 63,868
Smith, Kenneth	Edgar-Life Studies/Social Studies	3	F	\$59,711		1.000	\$ 59,711
Smith, Rebecca	Campbell-Resource Room	3	N	\$93,045	150	1.030	\$ 95,990
Spak, Jennifer	Campbell-Grade 2	1	N	\$88,614	750	1.030	\$ 92,045
Spring, Christina	Moss - Kindergarten	1	J	\$71,468		1.000	\$ 71,468
Stanski, Bonnie	MHS-Food Science	1	М	\$83,768		1.000	\$ 83,768
Stead, Pamela	Edgar-Social Studies	3	N	\$93,045	150	1.030	\$ 95,990
Stevens, Jonathan	MHS-Math/Computer	3	N	\$93,045	1,350	1.045	\$ 98,642
Stofa-Krombholz, Stefeny	MHS .6/Camp.4-Music	2	N	\$90,829		1.030	\$ 93,554

		ĺ	ĺ				\$
Stoner, Marsha	Edgar - Special Ed	1	L	\$79,668	450	1.000	80,118
Stoner, Richard	Edgar-Social Studies	3	М	\$87,956	150	1.000	\$ 88,106
							\$
Strauss, Robert	Campbell-Grade 2	1	N	\$88,614	150	1.030	91,427 ¢
Theiss, Christina	Edgar-School Psychologist	4	L	\$85,643		1.000	85,643
Thomas, James	MHS-Math	3	N	\$93,045	150	1.055	\$ 98,320
Thomas, Margaret	Campbell- Music	3	М	\$87,956	300	1.000	\$ 88,256
Trapanese, Alissa	Campbell-School Psychologist	4	К	\$81,236		1.000	\$ 81,236
Tzetzos, Panayotis	Campbell-PE	1	F	\$56,868		1.000	\$ 56,868
Ulmer, Robert	MHS-PE/Health	1	N	\$88,614	300	1.055	\$ 93,804
Olifier, Robert	Will 13-F E/Health	ı ı	IN	φοο,014	300	1.055	\$
Volosin, Lauren	MHS-English	3	F	\$59,711		1.000	59,711
Vorensky, Sandra	Edgar-BSI/Math	5	N	\$97,475	150	1.030	\$100,554
Wagenblast, Eileen	MHS-English	3	F	\$59,711		1.000	\$ 59,711
Walker, Jessica	Campbell-Grade 1	3	J	\$75,041		1.000	\$ 75,041
Warakomski, Alaina	Campbell- Special Ed	1	Н	\$63,868		1.000	\$ 63,868
Warnock, Michael	MHS-Math	1	L	\$79,668		1.000	\$ 79,668
Weitzner, Danielle	Campbell-Grade 3	2	N	\$90,829	300	1.030	\$ 93,863
Wetzel, Virginia Allar	Edgar-Science	3	М	\$87,956	450	1.000	\$ 88,406
					100		\$
Wisniewski, Lynda	MHS - Special Ed	1	K	\$75,568		1.000	75,568 \$
Wong, Kara	Campbell-Grade 3	1	N	\$88,614	300	1.045	92,915
Yakowenko, Thomas	Campbell-Grade 4	3	N	\$93,045		1.045	\$ 97,232
Zaleck, Kathleen	Campbell- Special Ed	2	G	\$61,672		1.000	\$ 61,672
Zaneto, Nicholas	MHS-PE/Health	3	М	\$87,956	900	1.000	\$ 88,856

# PERSONNEL ATTACHMENT - SEC A8 - MHS AND EMS COACHES - FALL 2019

FALL COACHES			
FALL CUACHES			
		Step on Salary Guide	19-20 Stipend
Cross Country			\$
Head Coach (Boys)	Martin Holleran	3	7,615.00
Head Coach (Girls)	Kelli Holleran	3	\$ 7,615.00
Tiead Coacii (Giris)	Item Honeran		\$
Assistant Coach	David Allen*	1	5,940.00
Field Hockey			
-			\$
Head Coach	Beth McLaughlin	3	9,293.00
Junior Varsity	Katie McKenna	3	\$ 6,601.00
Freshman	VACANCY	Ţ	-,
Football			\$
Head Coach	Guy Jensen*	1	11,234.00
		2	\$
First Assistant	Scott Rockhill	2	7,615.00 \$
Assistant	Jordan Leitner^^	3	7,439.00
Assistant	Scott Leitner*	2	\$ 7,264.00
Addictant			\$
Assistant	John Thornton*	1	7,088.00
Volunteer Assistant	Matt Sellitri		
Soccer			Φ.
Head Coach (Boys)	Edward Albanese	3	\$ 9,117.00
			\$
Junior Varsity	Thomas Herd*	3	6,336.00
Freshman	Schuyler Fannell	2	\$ 5,720.00
	·		\$
Head Coach (Girls)	Michael Knoth*	3	9,117.00
Junior Varsity	Hannah Thomas*	2	6,162.00
		-	
Tennis			

			\$	
Head Coach (Girls)	Jim Thomas	3	7,264.00	
Asst Coach	Nick Zaneto	3	\$ 4,940.00	
Cheerleader (Head Coach)	Sara Yocum*	3	\$ 3,596.00	
MHS Fall Coaches			\$ 129,956.00	
MIDDLE SCHOOL				
Field Hockey	Margo Banner	MS	\$ 3,351.00	
Soccer-Boys	Michael Butler	MS	\$ 3,351.00	
Soccer-Girls	Kristen Kuhlthau	MS	\$ 3,351.00	
Cross Country - Girls	Veronica Araneo	MS	\$ 3,351.00	
Cross Country-Boys	Ed Ronk	MS	\$ 3,351.00	
Middle School Fall Coaches			\$ 16,755.00	
TOTAL FALL COACHES			\$ 146,711.00	
*Represents adjunct coach ^^ position	represents para coach			

# PERSONNEL ATTACHMENT - SEC A9 - MHS AND EMS COACHES - WINTER 2019-2020

WINTER COACHES			
		Step on Salary Guide	19-20 Stipend
Basketball			
Head Coach (Boys)	Guy Jensen*	3	\$ 9,691.00
Junior Varsity	Brian Tuskan*	3	\$ 6,779.00
Freshman	Raymond Newman*	3	\$ 6,822.00
Head Coach (Girls)	Kathy Glutz*	3	\$ 9,691.00

Junior Varsity/freshman	Robert Capra*	3	\$ 6,779.00
Volunteer	Jamie Capra Mitchell*	<u> </u>	0,779.00
Volunteer	Dan Scanlon		
Volunteer	Rory Perner*		
Volunteer	TOLY I CITICI		
Swimming			
Head Coach (Boys)	James Thomas	3	\$ 8,278.00
Head Coach (Girls)	James Thomas	3 (75%)	\$ 6,209.00
Winter Track			
Head Coach (Boys)	Martin Holleran	3	\$ 7,969.00
Head Coach (Girls)	Kelli Holleran	3	\$ 7,969.00
Assistant Coach	Kyle Thomas*	3	6,293.00
Wrestling			
Head Coach	Joseph Keagle	3	\$ 9,469.00
Junior Varsity (assistant)	Nick Zaneto (shared)  Ben Hohmann*	3	\$ 3,256.00 \$
Junior Varsity (assistant)	(shared)	1	3,081.00
Cheerleader Head Coach	Sarah Yocum*	3	\$ 3,596.00
MHS Winter Coaches			\$ 95,882.00
MIDDLE SCHOOL			
Head Coach - Boys			\$
Basketball	Ed Albanese	MS	3,351.00
Head Coach - Girls Basketball	Emily Mertz	MS	\$ 3,351.00
Head Coach-Swimming	Karen Logan	MS	\$ 3,351.00
Middle School Winter Coaches			\$ 10,053.00
TOTAL WINTER COACHES			\$105,935.00
*Represents adjunct coach			

# PERSONNEL ATTACHMENT - SEC A10 - MHS AND EMS COACHES - SPRING 2019-2020

SPRING COACHES			
SPRING COACHES			
		Step on Salary Guide	19-20 Stipend
Baseball			
Head Coach	Leo Danik*	3	\$ 9,205.00
Junior Varsity	William Colavito(shared) Greg	3	\$ 3,190.50 \$
Junior Varsity	Sampson*(shared)	2	3,103.00 \$
Freshman	Robert Dougherty*	3	5,896.00
Volunteer	Ţ,		
Golf			
Head Coach (Boys)	Rich Stoner	3	\$ 6,910.00
Assistant Coach (Girls)	Frank Ruggiero	3	\$ 4,372.00
O-44II			
Softball			\$
Head Coach	Hannah Thomas*	2	9,205.00 \$
Junior Varsity	Kate McKenna	2	6,381.00
Volunteer			
Tennis			
			\$
Head Coach	James Thomas	3	7,264.00 \$
Assistant Tennis Coach	Nick Zaneto	3	\$ 4,940.00
Track			
Head Coach (Boys)	Martin Holleran	3	\$ 9,205.00
Assistant	Kyle Thomas*	3	\$ 6,293.00
Head Coach (Girls)	Kelli Holleran	3	\$ 9,205.00
Assistant	Joseph Keagle	3	\$ 6,293.00
/ 10010tarit	Michael Spark*	J	\$
Assistant	(shared)	2	3,058.50
Assistant	Alexander Leto* (shared)	2	\$ 3,058.50

MUO Ouring Occasion			\$
MHS Spring Coaches			97,579.50
MIDDLE SCHOOL			
Baseball	John Butler	MS	\$ 3,351.00
Softball	Kristen Kuhlthau	MS	\$ 3,351.00
Track	Veronica Araneo	MS	\$ 3,351.00
Track	Emily Mertz	MS	\$ 3,351.00
Track	Ed Ronk	MS	\$ 3,351.00
Tennis	Schuyler Fannell	MS	\$ 3,351.00
Middle School Spring Coaches			\$ 20,106.00
TOTAL SPRING COACHES			\$ 117,685.50
*Represents adjunct coach			